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 Start → A →C→F→H           0+2+2+3+2  = 9 Weeks

 Start→ A→ C→ E →G→ H       0+2+2+4+5+2 = 15 Weeks

 Start→A→D→G→H           0+2+4+5+2 = 13 Weeks

 Start→B→D→G→H            0+3+4+5+2 = 14 Weeks  
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ST = LS – ES
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A → C → E → G → H = 34 Weeks

A → C → F → H = 20 Weeks

A → D → G → H = 24 Weeks

B → D → G → H = 21 Weeks
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Budgeting is simply the process off recasting what resources the project will require, what 
quantities of each will be needed, when they will be needed, and how much they will cost.
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2 EOLExpected Opportunity Loss 

 

   254       :

1         300.000       

             170 
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         0.7
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α1≥α≥01
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